
Question paper for the examination of Mechanics I Technicians in Mechanical 
Department from land losers  

Max marks: 100 Max time: 3 hrs 

Sr. no Marks 

1 A freely suspended bar magnet rests in 
a) North — South Direction b) East — West Direction 
C) Upside down d) Any direction by chance. 

I 

2 Filament of a bulb is made up of 
(a) Aluminium b) Chromium 
(c) Tungstan d) Platinum 

1 

3 A substance which do not allows electricity to pass through is called 
(a) Conductor b) Insulator 
(c) Super Conductor d) Semi Conductor 

1 

4 Lighttravelsin 
(a) Straight line b) Zigzag line 
(c) Curved line d) Randomly 

1 

5 Which is a natural fibre 
(a) Nylon b) Silk 

1(c) Rayon d) Polyester 

1 

Night blindness is caused due to defieciency of 
(a) Vitamin D b) Vitamin C 
(c) Vitamin B d) Vitamin A 

1 

7 Major part of the air is constituted by 
(a) Nitrogen b) Oxygen 
(C) Carbon dioxide d) Inert gases 

1 

8 An electric cell has terminals. I 
(a) Four b) One 
(c) Three d) Two 

9 Which object shines 
(a) Plastic toy b) Cotton shirt 
(c) Stone piece d) Steel spoon• 

1 

10 Which gas we use for breathing 
(a) Carbon dioxide b) Nitrogen 
(c) Hydrogen d) Oxygen 

1 

- 
11 A  ofsheepvasgrazing 

(a) Group b) Bunch 
(c) Flock d) Herd 

1 

12 A man who is geffing married 
(a) bride b) bridesmaid 
(c) Bridegroom d) Bridesmen 

1 

13 

L 

There  sixteen players selected to tourAustralia 
(a) was b) is 
(c) are d) would 

1 



14 The Principal thanked the Chief Guest the school 
(a) because of b) on behalf of 
(c) instead of d) for the sake of 

1 

15 The opposite of the word 'distant' 
(a) far b) neighbour 
(c) near d) next 

1 

16 The meaning of the word 'fals' 
(a) rises b) blows 
(c) gets up d) loses intensity 

•1 

17 He should be here now 
(a) on b) during 
(c) by d) at 

1 

18 The poor boy has lost  mother 
(a) her b) his 
(c) its d) their 

1 

19 There are 30 boys & 20 girls in a class. The ratio of the number of girls 
to the total number of students is 
(a)2:3 b)2:5 
(c) 3:2 d) 2:3 

1 

20 Which of the following ratio is equivalent to 2:3 
(a)4:8 b)4:9 
(c) 6:9 d) 5:7 

1 

21 The ratio of 25 minutes to 1 hour is 
(a)7:5 b)5:12 
(c) 12:5 d) 5:7 

1 

22 Solve: 3p + 11 = 2 
(a) -13/3 b) 12/3 
(c)+3 d)-3 

1 

23 Each equal part of a circle is called 
(a) semi circle b) major circle 
(c) minor circle d) chord 

I 

24 The total boundary length of a circle is called 
(a) area b) volume 
(c) circumference d) diameter 

1 

25 Number of point; used to draw a rectangle 
(a) Two b) Three 
(c) Four d) One 

I 

26 Which is greater 0.5 or 0.09? 1 

27 Express as metres using decimals — 9m 7 cm I 

28 Express as kg using decima!s — 5kg 8 grams 1 

29 Findx 5x±32=2 1 

30 Fill up the blanks 3 / 5 = /20 1 

31 Reduce to simplest fraction : 48/60 1 

32 Add 1/15 and 4/30 1 



/ 

33 Subtract I — 1/3 1 

34 Which isgreater 3/40r7/8 1 

35 Triangle having Two sides equal length is called 
(a) Scalene triangle b) Isôsceles triangle 
C) Equilateral triangle d) Right angle triangle 

I 

36 70%of801s  I 

37 expressed in square units 
(a) Perimeter b) Area 
(c) Square d) Rectangle 

1 

38 An angle which is more than 90 degree and less than 180 degree is 
called 
(a) Acute angle b) Right angle 
(c) Straight angle d) Obtuse angle 

1 

39 The first basic Roman numeral is 
(a)0 b)l 
(c)V d)X 

I 

40 Only one even prime number is 
(a)6 b)4 
(c)2 d)8 

1 

41 Who wrote Panchatantra 
(a) Valmiki b) Vyasa 
(C) Vishnu Sharma d) Jayadeva 

I 

42 Saina Nehwal is famous for 
(a) Badminton b) Tennis 
c) Table Tennis d) Hockey 

I 

43 Seismograph is associated with 
(a) Power b) Area 
(c) Tsnuami d) Earthquake 

I 

44 Hirakud dam is built on a which major river 
a) Mahanadi b) Godavari 
c) Krishna d) Kaveri 

1 

45 In which State is Kanyckumari located 
a) Kerala b) Tamil Nadu 
c) Andhra Pradesh d) Karriataka 

I 

46 April 7 is celebrated as 
a) Womens Day b) World Health Day 
c) Fathers Day d) Earth Day 

1 

47 Chandigarh is the capital of 
a) State of Punjab b) State of Harlyana 
c) Union territory Chandigarh d) all of the above 

1 

48 BPL abbreviation stands for 
a) Bharat Petroluem Limited b) Blood Pressure Level 
c) Below Poverty Line d) Below Poor Level 

1 



49 The present Chief Minister of Uttar Pradesh is  
(a) Mulayam Singh Yadav b) Akhilesh Yadav 
c) Mayawati d) Lalu Prasad Yadav 

50 The first President of Republic India is  
(a) Pratiba Patil b) S Radha Krishnan 
(c) Jawaharlal Nehru d) Dr. Rajendra Prasad 

51 Answer any two of the following questions 

i)  The rectangular piece of land measures 700 m x 500 m. Each side is 
to fenced with 4 rows of wires. What is the length of the wire needed? 

5 

ii)  a. The weight of 75 books is 9 kg. What will be the weight of 40 such 
books? 
b.Solve x2 +3x+2=0 

5 

iii)  Present age of father is 42 years and his son is 14 year old. Find the 
ratio 
I) Present age of father to the present age of son. 
ii) Age of father to the age of son when the son was 12 years old 
iii) Age of father to the age of son after 10 years 
iv) Age of father to the age of son when father was 30 years old. 

5 

52 Match the following 
Koyna Dam Kerala 
Zuvari River Maharashtra 
Sharavathi River Karnataka 
Munnar Gujarat 
Dwarka Goa 

5 

53 

- 

Mention the unit of the following 5 

a) Veloctiy 

b) Resistance 

c)Acceleration 

d) Speed 

e) Voltage 

54 Complete the series 5 

a 7,14,21,  35,  

b.  6, 13, 19, 31,  

c.  1,4,9,  ,25 

d 1, ,27,64 

e 2,5,4, 10, , 15,  

55 2012 Olympic will be held at  1 

56 Present Railway Minister of India is  I 

57 Winner of Worid Cup Circket 2011 is  1 

58 The capital of Goa is  1 

59 The captain of Indian Test Cricket is  1 



60 Write True or False 5 

i) The first Prime Minister of Republic India is Lal Bahadur Shastri. 
ii) The unit of capacitor is Ohm 
iii) One metre = 1000 mm 
iv) Rubber is a magnetic material 
v) 3/4 >0.8 

61 Complete the sequence 5 

i)A:D::M  

ii)AC:EG::RT  

lii) ABC:FGH::MNO  

iv) EFGH:lJKL::PQRS  

v) J:P::T:  

62 Complete the following 5 

i) Football: Field = Tennis:  
a) Court b) Net 
c) Field d) Racket 

ii) Paper: Book = Seed:  
(a) Shoe b) Prism 
c) Oil d) Cloth 

iii) Kumta: Karnataka = Kudal =  
(a) Goa b) Gujarat 
c) Kerala d) Maharashtra 

iv) Author: Pen = Doctor:  
a) Stethoscope b) needle 
c) Sword d) knife 

v) Thermometer : Temperature = Sphygmomanometer:  
(a) length b) humidity 
c) Blood pressure d) air pressure 

63 Match the following 5 

Pakistan Islamabad 
India Dhaka 
Srilanka Kabul 
Bangladesh New Delhi 
Afghanistan Columbo 
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11 A  of sheep was grazing 

(a) Group b) Bunch 

(C) Flock d) Herd 

1 

12 A man who is getting married 

(a) bride b) bridesmaid 

(C) Bridegroom d) Bridesman 

1 

13 There  sixteen players selected to tour Australia 

(a) was b) is 

(c) are d) would 

1 

14 The Principal thanked the Chief Guest  the school 

(a) because of b) on behalf of 

(c) instead of d) for the sake of 

1 

15 The opposite of the word 'distant' 

(a) far b) neighbour 

(c) near d) next 

1 

16 The meaning of the word I  falls' 

(a) rises b) blows 

(c) gets up d) loses intensity 

1 

17 He should be here  now 

(a) on b) during 

(c) by d) at 

1 

18 The poor boy has lost  mother 

(a) her b) his 

(c) its d) their 

1 

19 1 91 30 * 34 20 cS1I l rr r csIui *r 
'-1I c'iI 3dft- 
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3:2 ) 2:3 
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' (T) 6:9 ) 5:7 

21 1 25 1d 311d 1 
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a 7.14.21,  ,35,  

b. 6, 13, 19, Y 31,  

C. 1.4,9,  ,25 

d 1, ,27,64 

e 2, 5, 4, 10, , 15,  
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1I- i) du TT TT 1Ic1 lIC'i. 

ii) kt 4 
IU) 1000 1-11 

iv) ii 

v) 3% >0.8 

61 5 tr 

I) A:D::M  

ii) AC:EG::RT  

Iii) ABC:FGH::MNO  

iv) EFGH:UKL::PQRS  

v) J:P::T:  
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